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No T R HE - BT X —H— (558) EEZ

1 [10%4y7aEiL7iLa—i 70%500m! 500|ml AR 303| MFASHT —T R —KEREZE
2 |PLEEN(%RA) 100E 100|g >F /¥ 596| #RASH T — TR —KREXE
4 YDV U &T3 200ml 20|24 B R 3,200 MAEHT — TR —KBREXE
5 |[YDV U XT3 500ml 204 B 3,327| MRAEHT — TR —KBREXE
7 |7R/ LB 20g 10|#& B AHTHE 1,431 HAEHTr —TRT —KREXE
8 |7X/—Iig 2mg/ 188 100(T B AHTE 536| MADHT — TR —KBREXE
10 |7 K+ (AC-17) SEE5& 50mg/10ml 10|A —7REST7 7 —% 793| HASHT —T X T —KREXE
12 |[7Uxyryny” 0.05%/1ml 500|ml =7a77-v  (R%: H—=#) 704 AT —T R —KBREXIE
13 |7 = — A% 100mg 100|f&100mg A BIEE 1,862 HrAEH T —T X7 —KREZE
14 |7 LB =—4FK| 200mg 100|f&200mg AR 1,862 HrAEHT — TRy —KREZE
15 |7 = —4%| 50mg 100|{{E50mg ATCEEE 1,862 KA r—T X7 —KREXE
16 |7 L ~R—IL RARRER 0.125%/1ml 100{m | TLTZLyYT77—< 471 MR — TR —KBREXE
17 |[4/1U>~S 0.001 500|ml —7AES77—% 3,074 MAEHT — TR —KBREXE
18 |4 > F st 10m g 100(T TARTERN 927| MAEHT —T R —KREXE
19 [ zs8z 500ml 500(ml PAR ST 1,250 HASHETr —T R —ABREXE
23 | RERBEEMERS % 5%/500ml FZ /Xy 20{ A REREER 5915 AT —T X7 —KEREXE
24 |FH RN URI0% S HH 500m! 500|ml B AR 313| MASHT —T R —KBREXE
25 |ARavEE 40mg/15% 100(T *yta 526| MAEHT — TR —KEREXE
26 |AFY (Fz/-VESAEYZ VL) 500g 500|g AEE (R AEHK) 922| #MAAHYT —T R —AREXE
27 ;; ;Z;f%@ff;;rgw g 500 500|g BB 700| BRAH S — TR KEEEE
29 |hoF—noy s 0.02 500{ml 2% 1P H B 2,227 MRAEHT — TR —KBREXE
30 |hoF— Lk 0.2 100|g B 1d H B 1,087| HAEHT —TRT —KREXE
31 |FvmharEY— 30ml 5|7 VN 850| MAXAHT — TR —KBREXE
34 |FoOhA UEERBEK 0.5%/3ml(&l) 10(A B R 1,071 AT —T R —KBREXE
35 |FoahA UETA2% 2%/5ml(&l) 10|A H R 1,071 ALy — TRy —KREXE
36 @hx4I/ 77— — 20m | 10|A /775y (RE:EAT7—) 1,109 % etTr —T R —KREXE
38 |7k 500m! 500|ml AR 595| MHEHT — T R —KEREIE
39 |7t Vi (i) 30mI201& 20|18 Lo BEE 1,832 AT —T R —KBREXE
40 |7 U+EY »iRkE(LR) 60mI101@ 10|18 NS5 1,107| #RASHTr —T 27 —KREXE
41 | ry v BRE 10g 10| = FH U 1,000 HAEHTr —T T —KREXE
45 |97 U V#KI10% GRA) 100mg/1g(EA) 100|g LTL77—~ 640| #HASHT —T X7 —KREXE
46 |¥¥35 /4 23E04meg  0.02%2m L 0.4mg/2m!(&1) 10|A IA T T 44 TR 1,263| HAEH T —TXT —KREXE
47 |EEEIERPL [7/-] 2/-7 b 20mlx 10 10{& 20m REER 905 #HASHT —T X7 —KBREX/E
48 |1l VSR 5mg 10|A HET N 704| MAEHT — TR —KBREXE
49 |V 77Fa— 10cm x 10cm 10{#% TAH 704 HASHT —T R —KBREXIE
50 |v U & TEH3S 4g/18) 100(& TATAT77—< 3,020 MHASHT —T R —KEREE
52 | & A T THAEE dmg 50{f8 4mg = R 2,304 HASHT —T X7 —KREX/E
53 |#271ADS 0.03 30|g R A B 3,216| MAEHT — TR —KBREXE
b4 |#IT7ILATEIL 75mg 10[p 75mg SN LB 1,688 A ST —T R —KRESE
55 |V LT AEERT ¥ REBAT 2.5g 42|18 N 1,298 HASHT —T X7 —KREXE
56 |32 0 —MEMFHFEZTFIAH T 1.68g/1h 7t 100|h 7& L IINKERE TS BUEE 2,272 MRS —T AT —KREXE
58 |FF - a— kU ILEKE 25¢ 1|& = 618| MABHT —T X7 —KREX/E
59 |k T RUL I VSR 13% 100(T TILTLyH T =% 544 HASHT — TR —KBREXE
60 | k5>t 3 vse 250mg/15% 100(P E—=4t 927 MASHT —T R —KEREZE
61 |Fo>H It 250mg/5ml 5% 10|A E—=4t 890| MAXAHT — TR —KBREXE
63 |FvEUYRFA4vay S 0.01 120| g BAFEET Y @ 1,090 #RASHT — T XT —KREXE
66 |= bo—JL8e 5mg,/15% 100(T T 900| MFAXEHYT —T 2RI —KBREXE
67 |xF 74U ViE 2.5%/10ml 10|A T—HA 891| MASHT —T R —KEREZE
68 |/ LT RUFU > Img/Imi(&)) 10|A TILTLyY T =% 891| H#AESHYT —T X —KFREXIE
69 |/S=v A L EER 100mg/2ml(&l) 10|A MS77—= 6,280 HHAAH YT —TRT —KREXE
70 |PLEC&FEAL 100| g S/ F 596| HASHT —T R —KBREXE
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No m Fitg HE - B A—h— ) (E4

71 |47z VR 18 120|g EA 73w 695 HASHT —TRT —KREXIE
72 |EH—R U8R 500m | 20| IAT477—% (R : BE®) 6,618 BT —T X7 —AKBREXE
75 |leEv 7 b HER0.2% 1|L RKEREREE 2,635 BAEHT —T X7 —KBREX/E
6 |7TFY =T U—L5% 10g 10| AT RUR - ANLRTT 1,229 BRASTr—T X —KREXE
77 |7 =/ N—ILEETR 10%/1ml (&) 10(A ROk B 624| HASHT —T R —KREXE
78 | 723/ 4810mg 100(T AA~N—U > H— 544| MAEHT — TR —KEREXE
79 |[FUvRFvay S 0.1%/1ml 500(ml HETL 1,038 HASHT —T X7 —KBREXE
80 |7V >v~F v iE5mg 5mg/$kE 100(T HETL 597| MAEHT —IT 2T —KEREXE
81 |7V v~T UiEsTR 0.5%/2ml 10mg 10(A HET 544| MAEHT — IR —KBREXE
82 |7La—+F 0.025% 5¢g 10|#& AN =% 994| MHXAHT —T R —KBREXE
83 |7a—+EE 0.025% 5g 10| A =2% 691| MHEHT — TR —KEREXE
84 |7 X kOvSRK0.1% 0.1%/5ml 10|A< SREHK 1,250 HAESHT —T X5 —KBREXE
86 |7o&/—L3E02mg 0.02%/1ml(&l) 0.2mg 10|A BRI 1,675 HAEHT —TRT —KREXE
87 |Vt IV EHKIOMg 15mg/1ml(E1) 10|A HARE 908| HASHIT —TRT —KBREXE
88 |FRIv > RF 42 my 7400 400m g (Hffh) 100| g MSZ77—< 7,790 MHEHT — TR —KEREXE
89 |RRIv i 500mg/ 15 100(T MSZ77—< 6,120| HHAEHYT —T Ry —KREXE
90 |RR I U401 % 0.1%/100m| 100{ml E——4t 1,000 AL —T T —KREXE
91 |RRIviFImg 01%1mL 0.1%/1ml(#)  1mg 10|A E—=4t 1,660 #MABHYT —T X7 —KIREXE
92 |0, 5w,/ v%TRF K 0.05%w/ v % 500|m | FRME  (fR3E - AERE) 303 MAEHT —IT R —KBREXE
93 | A4 BVEEET% 7%/20ml 10A 10|A REILH 890| MASHST —TRI —KEREX/E
94 |xvavEAaYAy S 10ml 500|ml WA 712| MAEHT — TR —KBREXE
95 | XTFUrBAKRLI= b 0.0001 56|1& x 0.3ml RIREIHEL 1,247 AT —T R —KBREXIE
96 | X 7F it 0.05m g 100(T RIERRUER 820| MAXAHT — TR —KBREXE
97 |x U zBviE 6m g 100(T T—HA 802| MFASHST —T R —KBREXE
98 |77V GE 500m| 20|%% AR5 4,062| #HASHT —T T —KEREXE
9 |F7vv o RE 20mg  10A 50|A W74 2,909 #HFoHsr —T X7 —KREXE
101 |V w4k 500mIF Y 7L 20|, REER 4560| #MFXHT —T X7 —KREXE
102 |U v 3> vEshR 300mg/1ml 5V 300mg 77 AY— 1,162 HAEH T —T Xy —KREXE
103 |U v 3> Vst 600mg/2ml 5|V 600mg 77 AY— 1,559 HAEHTr —T Xy —KREXE
104 |yvFayyoy s 0.01%/1ml 500|ml WA 3,073 MAEHT — TR —KBREXE
105 |[LR&ZIva—74U—L4L1% 500g 500|g BRI 949| HMAXAHT — TR —KBREXE
106 |L /Sy &7 24¢ 20mg 10[T 74 T b RBER 3,091 MHAEHT — TR —KEREXE
107 |AFy=vy 7 100mg 70| J— R4 IAhL 1,098 AL —T Xy —KREXE
108 |A oA RERE 0.1%/5g 10| BEES 663| MAEHT —TR7 —KEREXE
109 |[ERIvATEIL 1mg/1h7 100|P Yoy 77—% 874 HRASHYT —T X —KBREXIE
110 |B~= 2 /N B AL 0.05%/1g 100|g Yoer7r7—< 1,274 MRAESHT —T X7 —KREXE
111 |¥EEdsK 500ml 500{m| H F &R 112 BT —T X7 —KBREX/E
112 B>y 7 Iml(B) 500{ml PARSE:E S 250| HASHT —T X7 —KBREXE
113 [FUBEARFMEREER [~ ] 1g 500|g A REE 895| H”ASHIT —T X —KREXE
114 |AEe7+Y >~ 500g 500|g R 1,083 MAAHYT —T X7 —KIRFEXE
115 (kT &/ —)L 500ml 500(ml PARSY: LT o 1,056| HASETr —T R —KBREXIE
116 |MER 7 b OBV E5R 0.05%/1ml(&l) 0.5mg 10|A PRERE D 905| HASHT —T X7 —KBREXE
118 |4 /N3t 100mg/5ml (1) 10|A BAFEEEF Y >0 1,658 HAAHTr —T Ry —KREXE
120 |77 K—JL$2100mg 100mg/15% 100|T AN =% 544| MAEHT — IR —KEREXE
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62 | K3 HL 2ml10mg 10| S A B 1,024 BAEHAT 4 FKREZIE
64 |F I+ Ak 10mg 20(1@ 10mg BAFEEE Y ®) 595 HHEH AT 4 EFKEXE
65 |F I A 30mg 20|18 30mg HAFEEE Y ~®) 940 #MAESHAT 4 EFREZE




KBEZEMEMZNFLEERm (REEEM)

No 2% s s X —h— (Eg gy

1 [7Aan~xs Do Lo rBIEEER 500ml 5% 500|ml HET 1,217 #MAEHTr — TR —KREXE
2 |7¥ U RAEILERELS% 5%/1g 5lg x10 Eyil 3,062 HAESHT—IT XTI —KREXE
3 |7y o/nELEEhA0% 40% 100| g 7 A 3,818 #MFaHs —T R —KREXE
4 |7LBAYEVHEEMg 5m g /14% 100|T 5mg T4 T FUR 884| MABHT —TRI7—KREXE
5 |7EFITU AT EIL250mg 250mg/157 4l 100|P AN 945| MASHT —T X7 —KBREXE
6 |7>r7axy—LiEREY Ay 7/NBA03% 0.3%1ml 500|ml AN 2,406 MFXoHT —T X4 —KEREXE
7T |F—HTRHEER 500ml 500(ml HETL 505 #AESH T —T R —KREXE
8 |ANYyrsaLRILEYENagE 30mg 30mg/18% 100(T gl b44| HRAEHT —T R —KIREXJE
9 |ALRYZFArny 7/NER% 5% 1ml 500|ml AN 1,318 #MABHYT —T X7 —KREXE
10 |75Yz2A%ADS/MNEAEL0% 100mg Hffi/ g 100| g A 2,654 HMASHT —TXT—KEREXE
11 |# 5 Y z2A~A > 5£200mg 200mg 100|T 2N 2,254 #HFeHT —T R —KREXE
13 [T/ 8 L8582 2mg/ 15 100|T B A 526| Moy — T4 —KEREXE
14 [Y2on7xFoNafe2bmg 25mg/15E (&) 100|T HA 536| MAEHT —T X T —KREXIE
15 [Yon7zF 0+ Y7 L%8EI25mg 25mg/1E(RDE) 20|{& =Ei) 379 HASHT —T R —KREXE
16 |7 h Ry ERF I IVIERIEMAVNER10% 100mg/1g 100| g A 9,855| MASHT —TRT —KREXE
17 |27 ARV ERFILVIEEIEFF100m g 100mg/15% 100|T AN 3,663| #HFpeHs—TRIT—KREXE
18 |7 bLrERF v ILR/NEAL0% 100mg/1g 100|g A 11,681 #Fpottsr —T X7 —KEREXE
20 |va7FyA—iLTF—705mg 0.5mg/1# 70|#% YA 1,457 HRASH T —T R —KREXE
21 |va75ya—iL7r—7Img 1mg/1#%& 70|11 Y74 1,450 HAESHT—T R —KREXE
22 |[THFRXbFAX MUY 7 RALKEEEIESRLIOM g 15mg/15€ (&) 100(T A 526 HMASHT —ITRT —KREX/E
23 |THRY XY YOBAKENLS INK] (PzxVv ) 5g 10[A&x5¢g =F:N (¢S 1,681 MASHT—TRXI—KREXE
24 | K>~ K> 8E10mg 10mg/18%E 100|T AN 544| HMFASHYT —TXT —KEREXE
25 |7LEXRSEEAR 5S5mlL 5m | 50(A HKEEMR 2,770 HASHTr —T X7 —KBREXE
26 |7z *®v 7Y iERIEHR60mg 60mg/18% 100|T 60mg =N 2,100| #HFeHs—T R —KREXE
27 |7 F 2R F 2~ BIHE20mg 2%/1ml 20mg 1ml 50(A =N 3,909| MALHT — T XT—KEREXE
28 |7~ o ILERTRO5M g 5ml 0.5mg 5(A YA 4568 MASHT —TRXT —KBREXE
29 |7EAhTFR—LiERIET Ay 75u g/m | 0.005%/1ml 500|ml HET 1,800 #HAEHT -T2 —KREXE
30 |7A+& 3 RiE40m g 40mg/18% 100|T A0 589| MF‘aHy —T X4 —KEREXE
31 |7 ALA~FT VIBHEIETEANg dmg/15E 100(T A 473 BRI —T R —KREXE
32 |R& X%/ viR05mg 0.5mg/15E 100|T B A 945| MIASHYT — T X4 —KEREXE
33 [ RERYa—RFRA-ILT% 7%/30ml 10| oI — 872 #MFpAHT —ITRT —KEREXE
34 | RERY3I—FK®10% X&) 10%250ml 250|ml bR 351| HAEHYT —T 27 —KBREXE
35 |5> v 75V —L0DsEl5mg 15mg 100|T =N 1,007 HAEHT —T 27 —KREZE
36 |[L/vIE R$2100m g 100mg1$e 100|T F—vAh 933| HMFAoHT —TXT—KEREXE
37 |LAR7RaFH> > 88500mg 500mg 50|T AN 3177 HASHTr —T X —KREXIE
38 |LAh7EFH T RRK05% 0.5%/5ml 5| x5ml HEL 549 HARHT —TRT —KIREX/E
39 |m*¥v7a7 x>NafE60m g 60mg/ 15 100|T AN 900| MFXSHYT —TXT—KEREXE
40 |72 b7/ 78R 200mg/15% 100|T A 544| HMIASHT —T X4 —KEREXE




